CO2HEHHEFDHR (B ARKMER)

SEEMS

2020 B4E: cO2#EH = BAULE A500/3t-CO2
2030 H1E () : CO2#kEH = BAULEL A900/5t-CO2
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ML ES[Et)x1
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HER—X[P)]
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FE

19904 &

20054 &

20124F

20205 &
BiZ

2030 E
BiZ(XR)

AES
HERER

100

125

111

IRIILX—HES
[RABREAR—X[ K]

2,674

2,880

2,485
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CO2#FHH = (3E48)
[73t-CO2]

6,172
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(1990F E=1)

IRIFX—[RE(L 1 0.86 0.84
(19904 E=1)
CO2HEH [R B {51 1 0.87 0.84
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2020 E BH4E: CO2EH 2 BAUx1tE A139At-CO2 X1 2005E D EHGERELLTEE
2030 H1E (E) : CO2#FH = BAUx2tEk A7575t-CO2

2 2008~ 2012FESHEFHDERBEMEZEELLTEE

- - - - 2008~2012 | 2020%FFE 20304 &

EE 19904 & 20054 & 20124 [E T 5= g4 (=)
£EE 2,515 2,744 2,261 2,386 2,473 2,390
EEE[H/F]
IRILX—HES 367 339 240 262 286 -
HEN—X[T]
CO2#EH = (BAU) - - - - 2,243 -
[73t-CO2]
CO2#EH = (&) 2,493 2,418 1,716 1,859 2,104 -
[73t-CO2]

IRIFX—[RE(L 1 0.85 0.72 0.75 0.80 -
1990F E=1
CO2HEH [R B {51 1 0.89 0.78 0.78 0.83 -
1990F E=1
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2020 H4E: IRILX—[REA 2010FEL A1.1%

2030 HIE(F): IRILX—[REA 2010FELE A1.4%LT

- - = | 20105 - 20204 & 20305 [E

FE 19904E & | 20054 E (ot 4 ) 20124 [E 54z 4@ (5 =)
ES 9,310 7,393 5,590 5,931 5,621 -
EEE[At]
IRIILF—HEHES - - 494.7 518.3 491.8 -
[RiBEAR—X[FK]
CO2#EH = (E48) 2741 2177 1642 1740 - -
[J5t-CO2]
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2020 HEE: IR F—REMNREE FF1% (2012FEL A7.73%)
2030F HZ(F): IRIF—REMHNEE FFEHYI1% Q012FELL A16.55%)

- - - 20125 [E 20205 /& 20305 E

FE 19905 /& 005FF | (mea) g1z B2 (%)
ES 34,332 40,080 27,777 - -
% BEES[10EH)
IRILT—EHES 638 1,010.1 862.5 | 1,530~1,5503%1 ;
[RiBEAR—X[FK]
CO2#EH = (E48) 1,112 1,804.6 1,680 | 2,510~2,7003%1 -
[JAt-CO2]
ITRILF—REL . 0.553%3 0.503%3
(1990FE=1) [0.9227] [0.8345]
CO24FHH R B L 1 0.69 0.66 - -
(1990 E=1)
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2020 H4E: CO2#kE= 1990FELL A28%
2030 FE H1E(E): CO2#fH=  1990FEELE A33%

- 1990 & - - 20205 /& 20305 E

FE (Raar) | 200FE 20124 % g1z B2 (%)
ES 1359 - 955 1170 1170
EEBH(BE]
IRIILF—HES
[RiBEAR—X[FKI]
CO2HEHH = (3Ef8) 990 794 - 709 662
[73t-CO2] [1] [0.80] [0.72] [0.67]
IRILF—[REL
(1990F E=1)
CO24FHH R B L 1 - - 0.85 0.79
(1990F E=1)
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